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Quiz 4                                                                                                                       Sec: 01
Name:                                                                         Id#:                                          S. No.
To become an actuary, it is necessary to pass a series of 10 exams, including the most important one, an exam in probability and statistics. An insurance company wants to estimate the mean score on this exam for actuarial students who have enrolled in a special study program. They take a sample of 16 actuarial students in this program and determine that their scores are: 12, 15, 18, 18, 17, 16, 15, 17, 12, 15, 18, 18, 17, 16, 15, and 17. This sample will be used to check the claim that the average score for all the students is more than16.5.

a. What is the test statistic value to check this claim?

b. What is the p-value of your test?

c. Calculate a 98% confidence interval for the over all mean score and interpret.

